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*Goal-speed up analysis
*Cycle through analysis to see where the limitations,errors, are
*[Fix major algorithms- position, energy reconstruction, timing
* Apply present analysis of flux
*Use veto counter(see if background 1s reduced)
*Use snake calibrations to determine gains
*Use LMS variations as option
*Drop transition region
*Use low count rate data to understand backgrounds
*Develop Monte Carlo codes
*Perform simple estimates or educated guesses for error budget
Use both integral and differential n° cross sections



Monte Carlo
*Geant: pisim- can calculate backgrounds, detector
shower development and effeciencies,....
*Geometrical: Use C++ codes to rapidly generate large
numbers of events, treat apparatus as black box with
energy and position resolutions as input
*We can use either the first or both. The major thing 1s to
get going on this quickly.
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Contribution of Different Regions of Primex Detector to Efficiency
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Dependenn:e of Primex Detector E'l'ﬁu:ie-nn:yr on Angle of Pion
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dsig(mb/sr)
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% _N+l, int_Kcts
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Primakoff Angular Integration
Range

o(f) = op(0) +on(0) + o (8)
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Ve need to pick #-. such that fa4(0:) is suf-
ficiently large to get good statistics, but small
enough to accurately correct for this background. T his
can be achieved with:

2% < fn4-r(0:) < 5%
Then a 10% error in fy4 ;(60.) will cause a system-

atic error in the Primakoff cross section between
0.2%9 and 0.5%;.
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*Conclusions
*Cycle through analysis to see where the limitations,errors, are
*[Fix major algorithms- position, energy reconstruction, timing
* Apply present analysis of flux
*Use veto counter(see if background 1s reduced)
*Use snake calibrations to determine gains
*Use LMS variations as option
*Drop transition region
*Use low count rate data to understand backgrounds
*Develop Monte Carlo codes
ePerform simple estimates or educated guesses for error budget
Use both integral and differential n° cross sections



Integration Regions

counts ©. (deg) tna (%)
Pb 10K 0.10 2.0
Pb 15K 0.19 5.0
C 10K 0.20 5.5




